
MATHS

BOOKS - CENGAGE MATHS (HINGLISH)

INTEGRALS

Solved Examples And Exercises

1. If 
 then
 
 is inverse trigonometric

function for 
 
 is logarithmic function for 
 
 is

quadratic function for 
 
is rational function for 

Watch Video Solution

∫ = f(x(x)) + c,
dx

x2 + ax + 1
f(x)

|a| > 2 f(x) |a| < 2 g(x)

|a| > 2 g(x) |a| < 2

2. If  and 
 (a) 
 is an odd

function
(b) 
has range 
(c) 
has at least one real root
(d) 
 is

f(x) = ∫ dx
x8 + 4

x4 − 2x2 + 2
f(0) = 0, then f(x)

f(x) R f(x) f(x)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1sLGqpWplkJy
https://dl.doubtnut.com/l/_YC04yUScgb6B


a
monotonic function.

Watch Video Solution

3. Statement 1: For `-1

Watch Video Solution

4. Each question has four choices, a,b,c and d,
 out of which only one is

correct. Each question contains STATEMENT 1 and
 STATEMENT 2.
 If both

the statements are TRUE and STATEMENT 2 is the correct
explanation of

STATEMENT 1.
 If both the statements are TRUE but STATEMENT 2 is NOT

the correct
 explanation of STATEMENT 1.
 If STATEMENT 1 is TRUE and

STATEMENT 2 is FALSE.
If STATEMENT 1 is FALSE and STATEMENT 2 is TRUE.

Statement 1: 
 Statement 2: 

Watch Video Solution

∫ex sinxdx = (sinx − cos x) + c
ex

2

∫ex(f(x) + f ′ (x))dx = exf(x) + c

https://dl.doubtnut.com/l/_YC04yUScgb6B
https://dl.doubtnut.com/l/_F8lLWjNEHYgl
https://dl.doubtnut.com/l/_0WXMaIw15WGF
https://dl.doubtnut.com/l/_cOX7HIYu9y8M


5. If 
 
 is an even function



 is a bounded function
 the range of 
 is 
 
 has two

points of extrema

Watch Video Solution

∫ exdx = exf(x) + c, then
x2 − x + 1

(x2 + 1)
3
2

f(x)

f(x) f(x) (0, 1) f(x)

6. 
 both 


are odd functions
 
is monotonic function


has no real roots


Watch Video Solution

If∫ dx = tan− 1 f(x) − tan− 1 g(x) + C, then
x4 + 1

x6 + 1

2

3

f(x)andg(x) f(x) f(x) = g(x)

∫ dx = − + + c
f(x)

g(x)

1

x

3

x3

7. If 


 
 (b) 


 
(d) 

Watch Video Solution

∫sin− 1 x cos − 1 xdx = f − 1(x)

[Ax − xf − 1(x) − 2√1 − x2] + 2x + C, then f(x) = sinx

f(x) = cos x A =
π

4
A =

π

2

https://dl.doubtnut.com/l/_cOX7HIYu9y8M
https://dl.doubtnut.com/l/_KKDrnOsZiemx
https://dl.doubtnut.com/l/_atlVAIwHsFyc
https://dl.doubtnut.com/l/_Hmsv9BkW45O6


8. If 
(a) 
 (b) 
 (c)


has fundamental period 
(d) 
is an odd function

Watch Video Solution

∫ dx = Af(x) + B, then
cos 4x + 1

cot x − tanx
A = −

1

8
B =

1

2

f(x)
π

2
f(x)

9. Statement 1: 
 Statement 2: For

integration by parts, we have to
follow ILATE rule

Watch Video Solution

∫ = − √1 + + C
dx

x3√1 + x4

1

2

1

x4

10. Statement 1: 
 cannot be evaluated.
 Statement 2:

Only differentiable functions can be
integrated.

Watch Video Solution

∫ , (x > 0),
sinxdx

x

11. 
 A=_________ _,

B=_________, C=___________

W t h Vid S l ti

∫ dx = Ax + B log(9e2x − 4) + C, then
4ex + 6e−x

9ex − 4e−x

https://dl.doubtnut.com/l/_Hmsv9BkW45O6
https://dl.doubtnut.com/l/_mDFWRFjULjmC
https://dl.doubtnut.com/l/_PKWmbVyltxe9
https://dl.doubtnut.com/l/_3XE6viYLqmaQ


Watch Video Solution

12. The value of the integral





Watch Video Solution

∫ dxis
cos3 x + cos5 x

sin2 x + sin4 x

sinx − 6 tan− 1(sinx) + C sinx − 2(sinx) − 1 + C

sinx − 2(sinx) − 1 − 6 tan− 1(sinx) + C

sinx − 2(sinx) − 1 + 5 tan− 1(sinx) + C

13. Evaluate:


Watch Video Solution

∫sin− 1( )dx
2x + 2

√4x2 + 8x + 13

14. Evaluate: for 

Watch Video Solution

m ∈ N,

∫x3m + x2n + xm)(2x2m + 3xm + 6) dx, x > 0
1
m

https://dl.doubtnut.com/l/_3XE6viYLqmaQ
https://dl.doubtnut.com/l/_ygmLMhW2TnnZ
https://dl.doubtnut.com/l/_KeLfdZbgMl8i
https://dl.doubtnut.com/l/_doIlcOC5Cb1c
https://dl.doubtnut.com/l/_7523DCUkaGir


15. Evaluate:


Watch Video Solution

∫ dx
cos4 x

sin3 x(sin5 x + cos5 x)
3
5

16. Evaluate:
`intsqrt(1+cos e cx)dx ,(0

Watch Video Solution

17. 
 
 (b)


 
(d) 

Watch Video Solution

∫ dxisequa < o
x2 − 1

x3√2x4 − 2x2 + 1
+ C

√2x4 − 2x2 + 1

x3

+ C
√2x4 − 2x2 + 1

x
+ C

√2x4 − 2x2 + 1

x2
+ C

√2x4 − 2x2 + 1

2x2

18. The integral 
 equals (for some arbitrary

constant 


∫ dx
sec2 x

(secx + tanx)
9
2

K). − { − (secx + tanx)2} + K
1

(secx + tanx)
11
2

1

11

1

7

{ − (secx + tanx)2} + K
1

(secx + tanx)
1
11

1
11

1

7

https://dl.doubtnut.com/l/_7523DCUkaGir
https://dl.doubtnut.com/l/_MnrAVKzyl7xg
https://dl.doubtnut.com/l/_0y5ci17ivQJc
https://dl.doubtnut.com/l/_yVZt3Y3qyHnM


Watch Video Solution

− { + (secx + tanx)2} + K
1

(secx + tanx)
11
2

1

11

1

7

{ + (secx + tanx)2} + K
1

(secx + tanx)
11
2

1

11

1

7

19. Evaluate:


Watch Video Solution

∫
dx

x3√x2 − 1

20. Evaluate :


Watch Video Solution

∫ dx
2x

(1 − x2)√x4 − 1

21. Evaluate:


Watch Video Solution

∫√secx − 1dx

https://dl.doubtnut.com/l/_yVZt3Y3qyHnM
https://dl.doubtnut.com/l/_aMq1DcoAFDXV
https://dl.doubtnut.com/l/_Vq1rie65uWKc
https://dl.doubtnut.com/l/_q9SQnflZWPhe


22. Evaluate:


Watch Video Solution

∫√ sin− 1( √3 − x)dx
3 − x

3 + x

1

6

23. Evaluate:


Watch Video Solution

∫
(1 − x sinx)dx

x(1 − x3e3 cos x)

24. Evaluate: If

Watch Video Solution

∫cosn xdx
.
provethatIn = (cosn− 1 x sinx) + ( )In− 2

1

n

n − 1

x

25. Evaluate:


Watch Video Solution

∫ dx
x2 − 1

x√(x2 + αx + 1)(x2 + βx + 1)

https://dl.doubtnut.com/l/_LvX9C4V8xMyk
https://dl.doubtnut.com/l/_xnOLiTBMcBZk
https://dl.doubtnut.com/l/_j892kHFyxPK1
https://dl.doubtnut.com/l/_BX8Fd24DAQmV
https://dl.doubtnut.com/l/_lk5OZAjDPGvt


26. Evaluate:

Watch Video Solution

∫ [(sec− 1 √1 + x2 + cos − 1( )]dx, (x > 0).
etan − 1 x

(1 + x2)

1 − x2

1 + x2

27. 





Watch Video Solution

∫ dxisequa < o
√x − 1

x√x + 1
ln∣

∣x − √x2 − 1∣
∣ − tan− 1 x + c

ln∣
∣x + √x2 − 1∣

∣ − tan− 1 x + c ln∣
∣x − √x2 − 1∣

∣ − sec− 1 x + c

ln∣
∣x + √x2 − 1∣

∣ − sec− 1 x + c

28. ,then  is equal to
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

IfI = ∫
dx

(2ax + x2)
3
2

I − + c
x + a

√2ax + x2

− + c
1

a

x + a

√2ax + x2
− + c

1

a2

x + a

√2ax + x2
− + c

1

a3

x + a

√2ax + x3

https://dl.doubtnut.com/l/_lk5OZAjDPGvt
https://dl.doubtnut.com/l/_6rOMWY7fw4US
https://dl.doubtnut.com/l/_jXKIPTonVZx2


29. If  and  then 
 is equal

to-
(a) 
(b) 1
(c) 
(d) none of these

Watch Video Solution

f ′ (x) =
1

−x + √x2 + 1
f(0) =

1 + √2

2
f(1)

log (√2 + 1) 1 + √2

30. 


 
 
 (d) none

of these

Watch Video Solution

∫ex( + cot2(x + ))dxisequa < o
2 tanx

1 + tanx

π

4

ex tan( − x) + c
π

4
ex tan(x − ) + c

π

4
ex tan( − x) + c

3π

4

31. The value of the integral 
is

A. 

B. 

C. 

D. none of these

∫(x2 + x)(x− 8 + 2x− 9) dx
1
10

(x2 + 2x) + c
5

11

11
10

(x + 1x) + c
5

6

11
10

(x + 1) + c
6

7

11
10

https://dl.doubtnut.com/l/_FrYBuiFFmfNL
https://dl.doubtnut.com/l/_Lun5lFUWJ3Hc
https://dl.doubtnut.com/l/_xtOPm1zIr4S7


Answer: null

Watch Video Solution

32. 

Then
 
 (b) 
 
 (d) 




Watch Video Solution

If∫ = a ln(1 + x2) + b tan− 1 x + ln|x + 2| + C
dx

(x + 2)(x2 + 1)

1

5

a = , b = −
1

10

2

5
a = , b = −

1

10

2

5
a = − , b =

1

10

2

5

a = , b =
1

10

2

5

33. 
 (a)


 (b) 
 (c) 
 (d)

Watch Video Solution

If∫ dx = ax + b ln|2 sinx + 3 cos x| + C, then
3 sinx + 2 cos x

3 cos x + 2 sinx

a = − , b =
12

13

15

39
a = − , b

7

13

6

13
a = , b =

12

13

15

39

a = − , b = −
7

13

6

13

https://dl.doubtnut.com/l/_xtOPm1zIr4S7
https://dl.doubtnut.com/l/_sNyoCPRYbpUk
https://dl.doubtnut.com/l/_oZIyWlzhAlDi


34. 


 (b) 
 
 (d) 

Watch Video Solution

If∫ dx = ax + b ln(4ex + 5e−x) + C, then
3ex − 5e− 1

4ex + 5e−x

a = − , b =
1

8
7
8

a = , b =
1

8
7
8

a = − , b = −
1

8
7
8

a = , b = −
1

8
7
8

35. is equal to
 (a) 
 (b)


(c) 
(d) none of these

Watch Video Solution

∫√ dx
cos x − cos3 x

1 − cos3 x
− sin− 1(cos x) + C

2

3

3
2

sin− 1(cos x) + C
3

2

3
2 cos − 1(cos x) + C

2

3

3
2

36. If 
 means 
 the 
 being repeated 
 times, then 


 is equal to
 
 (b) 


(d) none of these

Watch Video Solution

l ′ (x) log log logx, log r

∫[xl(x)l2(x)l3(x)l ′ (x)]
− 1

ds lr+ 1(x) + C + C
lr+ 1(x)

r + 1

lr(x) + C

https://dl.doubtnut.com/l/_RgmNZN1BsL86
https://dl.doubtnut.com/l/_IgRd6hSCGADk
https://dl.doubtnut.com/l/_q2KYDw4Wi8sg


37.  is equal to
 (A) 
 (B)


 (C) 
 (D)

Watch Video Solution

∫ dx
cos 4x − 1

cot x − tanx
ln|sec 2x| − cos2 2x + c

1

2

1

4

ln|sec 2x| + cos2 x + c
1

2

1

4
ln|cos 2x| − cos2 2x + c

1

2

1

4

ln|cos 2x| + cos2 x + c
1

2

1

4

38. If 
 then
 (a)


 (b) 
 (c) 
 (d) none of

these

Watch Video Solution

∫ = a√cot x + b√tan3x + c,
dx

√sin3 x cos5 x

a = − 1, b =
1

3
a = − 3, b =

2

3
a = − 2, b =

4
3

39. 


 (b) 


(d) 

Watch Video Solution

∫etan ^ (( − 1)x)(1 + x + x2)d(cot − 1 x)isequa < o

−etan ^ (( − 1)x) + c etan ^ (( − 1)x) + c −xetan ^ (( − 1)x) + c

xetan ^ (( − 1)x) + c

https://dl.doubtnut.com/l/_VSi1mgYHmo5L
https://dl.doubtnut.com/l/_vELz2UjWBKOd
https://dl.doubtnut.com/l/_DMjzh7o1M7CU
https://dl.doubtnut.com/l/_Yzr4jlqVowLT


40. 
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

∫ isequa < o
x9dx

(4x2 + 1)9
(4 + )

− 5

+ c
1

5x

1

x2

(4 + )
− 5

+ c
1

5

1

x2
(1 + 4x2)

− 5
+ c

1

10
(4 + )

− 5

+ c
1

10

1

x2

41. 

Watch Video Solution

∫
2 sinx

(3 + sin 2x)dxisequa < o

ln
∣
∣
∣

∣
∣
∣

− tan− 1( ) + c
1

2

2 + sinx − cos x

2 − sinx + cos x

1

√2

sinx + cos x

√2

ln
∣
∣
∣

∣
∣
∣

− tan− 1( ) + c
1

2

2 + sinx − cos x

2 − sinx + cos x

1

2√2

sinx + c0sx

√2

ln
∣
∣
∣

∣
∣
∣

− tan− 1( ) + c
1

4

2 + sinx − cos x

2 − sinx + cos x

1

√2

sinx + c0sx

√2

noneofthese

42. i se q u a lto
(a) 
(b) 

(c) 
(d) none of these

Watch Video Solution

∫( dx
ln(tanx)

sinx cos x
ln(tanx) + c

1

2
ln(tan2 x) + c

1

2

(ln(tanx))2 + c
1

2

https://dl.doubtnut.com/l/_Yzr4jlqVowLT
https://dl.doubtnut.com/l/_A2f9r7HXjlfL
https://dl.doubtnut.com/l/_n6f4tHg7Zmk4


43.  is e q u a lto

Watch Video Solution

∫sin− 1( )dx
2x

1 + x2

44. If 
 then


(b) 
 
(d) 

Watch Video Solution

∫ dx = a ln|x| + b ln∣∣x
7 + 1∣∣ + c,

1 − x7

x(1 + x7)
a = 1, b =

2

7

a = − 1, b =
2

7
a = 1, b = −

2

7
a = − 1, b = −

2

7

45. 
 (a)

(b) 
(c) 
(d) none of these

Watch Video Solution

if ∫ = − [f(x)] + c, thenf(x)is
dx

x2(xn + 1)
( )n− 1

n

1
n (1 + xn)

1 + x− 1 xn + x−n

46. If 
 
(b) 

(c) 
(d0 

∫ dx = a log
∣
∣
∣

∣
∣
∣

+ b, thenaisequal
1

x√1 − x3

√1 − x3 − 1

√1 − x3 + 1

1

3

2

3

−
1

3
−

2

3

https://dl.doubtnut.com/l/_n6f4tHg7Zmk4
https://dl.doubtnut.com/l/_aKHrkvHYrmij
https://dl.doubtnut.com/l/_kToU9KQsPx0m
https://dl.doubtnut.com/l/_Y9UQWX454iPU
https://dl.doubtnut.com/l/_8H1UeS77FDNa


Watch Video Solution

47. Evaluate:


Watch Video Solution

∫ dx
(cos 2x)

1
2

sinx

48. Evaluate:


Watch Video Solution

∫(√ )dx
1 + x2

x2 − x4

49. Evaluate:


Watch Video Solution

∫ dx
x2

(a + bx)
2

50. Evaluate:


Watch Video Solution

∫√1 + sin( )dx
x

2

https://dl.doubtnut.com/l/_8H1UeS77FDNa
https://dl.doubtnut.com/l/_cs8pzY0jIV5s
https://dl.doubtnut.com/l/_7KSrQpgDHSWQ
https://dl.doubtnut.com/l/_fRKiGgYepfLy
https://dl.doubtnut.com/l/_Gl5S1lBXDqFN


51. Evaluate:


Watch Video Solution

∫ dx
x2

√1 − x

52. Evaluate:


Watch Video Solution

∫(elogx + sinx)cos xdx

53. If

Watch Video Solution

f(x) = √x, g(x) = ex − 1, and∫fog(x)dx = Afog(x) + B tan− 1(fog(x))

54. If 

then the value of 
is______

Watch Video Solution

∫ dx = A ln|cos x + sinx − 2| + Bx + C,
2 cos x − sinx + λ

cos x + sinx − 2

A + B + |λ|

https://dl.doubtnut.com/l/_Gl5S1lBXDqFN
https://dl.doubtnut.com/l/_2pISGFwk22M6
https://dl.doubtnut.com/l/_DAjKgvB2hgk4
https://dl.doubtnut.com/l/_p3oVgjMldwTy
https://dl.doubtnut.com/l/_A9cjoifxU1TR


55. If 
 then the

value of 
is____

Watch Video Solution

∫[( )
x

+ ( )
x

]lnxdx = A( )
x

+ B( )
x

+ C
x

e

e

x

x

e

e

x

A + B

56. Evaluate:


Watch Video Solution

∫ dx
sinx

sinx − cos x

57. Evaluate:


Watch Video Solution

∫ dx
(x − 1)ex

(x + 1)
3

58. Evaluate:


Watch Video Solution

∫
dx

x2(x4 + 1)
3
4

https://dl.doubtnut.com/l/_A9cjoifxU1TR
https://dl.doubtnut.com/l/_AqMZpNSCNeKh
https://dl.doubtnut.com/l/_rRqtcoMBGqHE
https://dl.doubtnut.com/l/_2RSKiIq7HDob
https://dl.doubtnut.com/l/_qyNU7E0Ct6BT


59. 
 then

(a) 
(b) 
(c) 
(d) none of these

Watch Video Solution

If∫x log(1 + )dx = f(x)log(x + 1) + g(x)x2 + Ax + C,
1

x

f(x) = x21

2
g(x) = logx A = 1

60. 
 a. 


 b.


 c.


 d.

Watch Video Solution

IfI = ∫ , thenIequals
dx

x3√x2 − 1

( + tan− 1 √x2 − 1) + C
1

2

√x2 − 1

x3

( + x tan− 1 √x2 − 1) + C
1

2

√x2 − 1

x2

( + tan− 1 √x2 − 1) + C
1

2

√x2 − 1
x

( + tan− 1 √x2 − 1) + C
1
2

√x2 − 1

x2

61. The value of 



 
(d) none of these

∫
ax2

x√c2x2 − (ax2 + b)2
sin− 1(ax + ) + k

1

c

b

x

c sin− 1(a + ) + e
b

x
sin− 1( ) + k

ax + b
x

c

https://dl.doubtnut.com/l/_Is6duJ0wps0U
https://dl.doubtnut.com/l/_0bAsr00elvtR
https://dl.doubtnut.com/l/_qcCfZlVOOPnZ


Watch Video Solution

62. 
 (a) 


 (b) 
 (c) 
 (d) 

Watch Video Solution

If∫ = a(tan2 x + b)√tanx + c, then
dx

cos3 x√sin 2x

a = , b =
√2

5

1

√5
a = , b = 5

√2

5
a = , b = −

√2

5

1

√5

a = , b = √5
√2

5

63. 





Watch Video Solution

4∫ dxisequa < o
√a6 + x8

x
√a6 + x8 + ln

∣
∣
∣

∣
∣
∣

+ c
a3

2

√a6 + x8 + a3

√a6 + x8 − a3

a6 ln
∣
∣
∣

∣
∣
∣

+ c
√a6 + x8 − a3

√a6 + x8 + a3
√a6 + x8 + ln

∣
∣
∣

∣
∣
∣

+ c
a3

2

√a6 + x8 − a3

√a6 + x8 + a3

∣
∣
∣

∣
∣
∣

+ c
√a6 + x8 + a3

√a6 + x8 − a3

64. If  then equal

Watch Video Solution

I = ∫e−x log(ex + 1)dx,

https://dl.doubtnut.com/l/_qcCfZlVOOPnZ
https://dl.doubtnut.com/l/_VQiG9d3z7NhX
https://dl.doubtnut.com/l/_kSHmmxuPlJfs
https://dl.doubtnut.com/l/_OeIEboiXlAyP


65. 
 (a)

constant (b) 
 (c) 
 (d) 

Watch Video Solution

IfIm ,n = ∫cosm x sinnxdx, then7I4 ,3 − 4I3 ,2  is equal to

−cos2 x + C −cos4 x cos 3x + C

cos 7x − cos 4x + C

66. 
 (a)

(b) 
(c) 
(d) none of these

Watch Video Solution

if ∫ = − [f(x)] + c, thenf(x)is
dx

x2(xn + 1)
( )n− 1

n

1
n (1 + xn)

1 + x− 1 xn + x−n

67. Evaluate:


Watch Video Solution

∫(√tanx + √cot x)dx

68. Evaluate:


Watch Video Solution

∫ dx
√cos 2x

sinx

https://dl.doubtnut.com/l/_rRqJO4pS8C2Y
https://dl.doubtnut.com/l/_LeH785US7OGD
https://dl.doubtnut.com/l/_8nHObnZmU2Xb
https://dl.doubtnut.com/l/_eVpbIsfc7eUM


69. 


 


Watch Video Solution

If∫xex cos xdx = aex(b(1 − x)sinx + cx cos x) + d, then

a = 1, b = 1, c = − 1 a = , b = − , c = 1
1

2
a = 1, b = − 1, c = 1

a = , b = 1, c = − 1
1

2

70. If  then equal

Watch Video Solution

I = ∫√ dx,
5 − x

2 + x

71. Evaluate:


Watch Video Solution

∫ dx
x + 1

x(1 + xex)2

72. Evaluate:


h id l i

∫cos 2θ ln( )dthη
cos θ + s∫hη

cos θ − s∫hη

https://dl.doubtnut.com/l/_eVpbIsfc7eUM
https://dl.doubtnut.com/l/_9hSZRQKZ0XME
https://dl.doubtnut.com/l/_1RUrdpoVmn3f
https://dl.doubtnut.com/l/_CBlD1MOIlETm
https://dl.doubtnut.com/l/_e4fgTyxwnT98


Watch Video Solution

73. Evaluate:


Watch Video Solution

∫( + ( )dx
1

x3 + x4

ln(1 + x6)

x3 + √x

74. Evaluate:


Watch Video Solution

∫(√tanx + √cot x)dx

75. 
 (a) 
 (b) 


(c) 
(d) none of these

Watch Video Solution

IfI = ∫ , thenIequal
dx

(a2 − b2x2)
3
2

+ C
x

√a2 − b2x2

+ C
x

2√a2 − b2x2
+ C

ax

√a2 − b2x2

76. If 




I = ∫(√cot x − √tanx)dx, thenIequal

√2log(√tanx − √cot x) + C √2 log|sinx|cos x + √sin 2x ∣ + C

https://dl.doubtnut.com/l/_e4fgTyxwnT98
https://dl.doubtnut.com/l/_8oybKyHlWguy
https://dl.doubtnut.com/l/_Sm4rCPhgEPt9
https://dl.doubtnut.com/l/_8DGhY417eIdo
https://dl.doubtnut.com/l/_jJ4qXhNvOQ6L


Watch Video Solution

√2 log∣∣s ∈ x − cos x + √2s ∈ x cos x∣∣ + C

√2 log∣
∣sin(x + ) + √2 sinx cos x∣

∣ + C
π

4

77. 







Watch Video Solution

∫x(( + )dx(wherea, b ∈ R+ )isequa < o
lna

x

2

3a b3x
5x
2

ln bb ^ x

2a2xb4x

a2xb3x + k
1

6lna2
b3

ln(a2xb3x)

e
+ k

1

6lna2
b3

1

a2xb3x

ln 1

ea2xb3x

ln(a2xb3x) + k
1

6lna2b3

1

a2xb3x
− ln(a2xb3x) + k

1

6lna2b3

1

a2xb3x

78. 
 
 (b) 


 
(d) 

Watch Video Solution

∫ex ^ 4(x + x3 + 2x5)ex ^ 2dxisequa < o xex ^ 2ex ^ 4 + c
1

2

x2ex ^ 4 + c
1

2
ex ^ 2ex ^ 4 + c

1

2
x2ex ^ 2ex ^ 4 + c

1

2

https://dl.doubtnut.com/l/_jJ4qXhNvOQ6L
https://dl.doubtnut.com/l/_MchTW8ICZzYd
https://dl.doubtnut.com/l/_aNHJkihivSI7


79. 
 
 (b) 


(d) none of these

Watch Video Solution

∫ dxisequa < o
cos ec2x − 2005

cos2005 x
+ c

cot x

(cos x)
2005

+ c
tanx

(cos x)
2005

( − + c
tanx

(cos x)2005

80. If  ,

then
 (A) 
 (B) 
 (C) 
 (D) 

Watch Video Solution

∫ dx = a√1 + x2 ln(x + √1 + x2) + bx + c
ln(x + √1 + x2)

√1 + x2

a = 1, b = − 1 a = 1, b = 1 a = − 1, b = 1

a = − 1, b = − 1

81. If  ,then f(x) is equal to
(a)


 (b) 
 
 (d) 

Watch Video Solution

f(x)sinx cos xdx = lnf(x) + c
1

2(b2 − a2)
1

a2 sin2
x + b2 cos2 x

1

a2 sin2
x − b2 cos2 x

1

a2 cos2 x + b2 cos2 x
1

a2 cos2 x − b2 cos2 x

https://dl.doubtnut.com/l/_Do69OMxAMg3l
https://dl.doubtnut.com/l/_9QSZNM1ohl5c
https://dl.doubtnut.com/l/_1JUArPOYP0to
https://dl.doubtnut.com/l/_jdu4yeNVVlUn


82. 
 equal.

(A) 
 (B) 
 (C) 
 (D) 

Watch Video Solution

Ifxf(x) = 3f 2(x) + 2, then∫ dx
2x2 − 12xf(x) + f(x)

(6f(x) − x)(x2 − f(x))2

+ c
1

x2 − f(x)
+ c

1

x2 + f(x)
+ c

1

x − f(x)

+ c
1

x + f(x)

83. 
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

∫ isequa < o
dx

(1 + √x)√(x − x2)
+ c

1 + √x

(1 − x)2

+ c
1 + √x

(1 + x)2
+ c

1 − √x

(1 − x)2
+ c

2(√x − 1)

√(1 − x)

84. The value of integral ∫ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠
dxisequa < o

1

√1 + x2

1

√(1 + x2)
5

ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

1

√(1 + x2)3

https://dl.doubtnut.com/l/_jdu4yeNVVlUn
https://dl.doubtnut.com/l/_mkhRm90oxmB9
https://dl.doubtnut.com/l/_I9x1Dwu0dFmc



none of these

Watch Video Solution

ex
⎛
⎜
⎜
⎝

−
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

1

√(1 + x2)
3

ex
⎛
⎜
⎜
⎝

+
⎞
⎟
⎟
⎠

+ c
1

√1 + x2

1

√(1 + x2)
5

85.  equals

Watch Video Solution

∫√1 + cos ecdx

86. If 
then

Watch Video Solution

l = ∫sec2 x cos ec4xdx = A cot3 x + B tanx + C cot x + D,

87. A curve 
 is passing

through origin. Then
 
 (b) 
 
 (d) 

g(x) = ∫x27(1 + x + x2)
6
(6x2 + 5x + 4)dx

g(1) =
37

7
g(1) =

27

7
g( − 1) =

1

7

g( − 1) =
37

14

https://dl.doubtnut.com/l/_I9x1Dwu0dFmc
https://dl.doubtnut.com/l/_gnDCN5zY0CVC
https://dl.doubtnut.com/l/_wFcTvszoqeGs
https://dl.doubtnut.com/l/_dK8xCzVhOV32


Watch Video Solution

88. If 
 is a real constant, then

Watch Video Solution

∫√cos ecx + 1dx = kfog(x) + c, wherek

k = − 2, f(x) = cot − 1 x, g(x) = √cos ecx − 1

k = − 2, f(x) = tan− 1 x, g(x) = √cos ecx − 1

k = 2, f(x) = tan− 1 xg(x) =
cot x

√cos ecx − 1

k = 2, f(x) = cot − 1 xg(x) =
cot x

√cos ecx − 1

89. 

A. 

B. 

C. 

D. none of these

Answer: C

∫ dx =
x4 − 1

x2√x4 + x2 + 1

√x2 + + 1 + C
1

x2

+ C
√x4 + x2 + 1

x2

+ C
√x4 + x2 + 1

x

https://dl.doubtnut.com/l/_dK8xCzVhOV32
https://dl.doubtnut.com/l/_5FL9VUkxawS0
https://dl.doubtnut.com/l/_TMJuBtDd96BL


Watch Video Solution

90. 
 (a) 
 (b) 
 (c)


(d) 

Watch Video Solution

∫ dx −
√x2 + 1

x4
− + C

1

3

(x2 + 1)
3
2

x3
x3(x2 + 1)

−
+ C

1
2

+ C
√x2 + 1

x2
− + C

1

3

(x2 + 1)
3
2

x2

91. 
 



(d) 

Watch Video Solution

∫ =
dx

ex√2ex − 1
2 sec− 1 √2ex + c −2 + c

tan− 1 1

√2e − 1

2 sec− 1(√2ex) + c 2 tan− 1 √2ex − 1 + c

92. If 
 
 (b) 


 
(d) 

Watch Video Solution

∫sinxd(secx) = f(x) − g(x) + c, then f(x) = secx

f(x) = tanx g(x) = 2x g(x) = x

https://dl.doubtnut.com/l/_TMJuBtDd96BL
https://dl.doubtnut.com/l/_8LlnrnC9rCAo
https://dl.doubtnut.com/l/_6XMNErLKoy7P
https://dl.doubtnut.com/l/_M1VUKgBu0Fxa
https://dl.doubtnut.com/l/_rB1cNuMPEc1h


93. If 
 then
 (a)


 (b) 
 (c)

(d) 

Watch Video Solution

I = ∫ dx = P cos x + Q log|f(x)| + R,
sinx + sin3 x

cos 2x

P = , Q = −
1

2

3

4√2
P = , Q =

1

4

1

√2
f(x) =

√2 cos x + 1

√2 cos x − 1

f(x) =
√2 cos x − 1

√2 cos x + 1

94. If

(a) 
(b) 
(c) 
(d) 

Watch Video Solution

∫ 2xdx = AF (x − 1) + BF (x − 4) + CandF (x) = ∫ dx
ex− 1

(x2 − 5x + 4)

ex

x

A = −
2

3
b = ( )e34

3
A =

2

3
d ∈ R

95. Evaluate:


Watch Video Solution

∫ √ dx
1

x

1 − √x

1 + √x

96. Evaluate:
∫ dx
x3 + 3x + 2

(x2 + 1)2(x + 1)

https://dl.doubtnut.com/l/_rB1cNuMPEc1h
https://dl.doubtnut.com/l/_br4JimEv9JsT
https://dl.doubtnut.com/l/_wgPUMOCmBH7n
https://dl.doubtnut.com/l/_2V6notbYqY66


Watch Video Solution

97. 
 
 (b) 


 
(d) 

Watch Video Solution

∫ dxisequa < o
3 + 2 cos x

(2 + 3 cos x)2
( ) + c

sinx

3 cos x + 2

( ) + c
2 cos x

3 sinx + 2
( ) + c

2 cos x

3 cos x + 2
( ) + c

2 sinx

3 sinx + 2

98. 
 
 (b) 


 
(d) 

Watch Video Solution

∫( )
2

+ exdxisequa < o
x + 2

x + 4
ex( ) + c

x

x + 4

ex( ) + c
x + 2

x + 4
ex( ) + c

x − 2

x + 4
( ) + c

2xe2

x + 4

99. 
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

IfI = ∫ dx, thenIequals
sin 2x

(3 + 4 cos x)
3

+ C
3 cos x + 8

(3 + 4 cos x)
2

+ C
3 + 8 cos x

16(3 + 4 cos x)2
+ C

3 cos x

(3 + 4 cos x)2
+ C

3 − 8 cos x

16(3 + 4 cos x)2

https://dl.doubtnut.com/l/_2V6notbYqY66
https://dl.doubtnut.com/l/_geqpVfrt6TrB
https://dl.doubtnut.com/l/_p8vgLtFo556e
https://dl.doubtnut.com/l/_BnTPdhR8OvAj
https://dl.doubtnut.com/l/_8beYyGUDRluu


100. If  then equals

Watch Video Solution

I = ∫ ,
dx

secx + cos ecx

101.  is equal to (A)  (B) 

 (C)  (D) 

Watch Video Solution

∫
x3dx

√1 + x2
√1 + x2(2 + x2) + C

1

3

√1 + x2(x2 − 1) + C
1

3
(1 + x2) + C

1

3

3
2

√1 + x2(x2 − 2) + C
1

3

102. 

Watch Video Solution

∫etan x(secx − sinx)dxis equal to

103. 
 
 (b) 


(d) none of these

Watch Video Solution

∫ dxisequa < o
(x2 + 1)

(x + 1)2
( )ex + c
x − 1

x + 1
ex( ) + c

x + 1

x − 1

ex(x + 1)(x − 1) + c

https://dl.doubtnut.com/l/_8beYyGUDRluu
https://dl.doubtnut.com/l/_ED9SEQ69hY9o
https://dl.doubtnut.com/l/_M2PnfjMzkCtK
https://dl.doubtnut.com/l/_k5J7XzQGfoKD


104. 

Watch Video Solution

∫x sinx sec3 xdxi se q u a lto

105. 





Watch Video Solution

∫√ex − 1dxisequa < o 2[√ex − 1 − tan− 1 √ex − 1] + c

√ex − 1 − tan− 1 √ex − 1 + c √ex − 1 + tan− 1 √ex − 1 + c

2[√ex − 1 − tan− 1 √ex − 1] + c

106.    to
 (a) 
 (b)


 (c) 
 (d)

Watch Video Solution

∫ dx
ln( )x− 1

x+ 1

x2 − 1
is equal (ln( ))

2

+ C
1

2

x − 1

x + 1

(ln( ))
2

+ C
1

2

x + 1

x − 1
(ln( ))

2

+ C
1

4

x − 1

x + 1

(ln( ))
2

+ C
1

4

x + 1

x − 1

https://dl.doubtnut.com/l/_k5J7XzQGfoKD
https://dl.doubtnut.com/l/_1msTukatXjrJ
https://dl.doubtnut.com/l/_IAoYrcvRxpcb
https://dl.doubtnut.com/l/_dCiCUNDXNRjy


107. Let 
 then the value of 


is __________

Watch Video Solution

g(x) = ∫ dxandg(0) = 0.
1 + 2 cos x

(cos x + 2)2

8g( )
π

2

108. Let 
 . Then the value of 


is____

Watch Video Solution

k(x) = ∫ andk( − 1) =
(x2 + 1)dx

(x3 + 3x + 6)
1
3

1

2
1
3

k( − 2)

109. Column I
a) 
b) 
c) 

d) 
COLUMN II (which of the following functions appear in

integration of functions in columnI)
p) 
q) 
r.) 
 s) 

Watch Video Solution

∫ dx
x2 − x + 1

x3 − 4x2 + 4x
∫ dx

x2 − 1

x(x − 2)
3

∫ dx
x3 + 1

x(x − 2)
2

∫ dx
x5 + 1

x(x − 2)
3

log|x| log|x − 2|
1

(x − 2)

x

https://dl.doubtnut.com/l/_kpjCXFpzJFnU
https://dl.doubtnut.com/l/_r6z3zF5I0tka
https://dl.doubtnut.com/l/_O16pGTgSc2NI
https://dl.doubtnut.com/l/_7AtdrzeW9MJO


110. Let 

Then the value of 
is____

Watch Video Solution

f(x) = ∫xsin x(1 + x cos x
.

lnx + sinx)dxandf( ) = .
π

2
π2

4

|cos(f(π))|

111. Each question contains statements given in two columns which have

to be
matched.
Statements (a,b,c,d) in column I have to be
 matched with

statements (p,q,r,s) in column II. If the correct match are a-p,
 s, b-r c-p, q.

and d-s, then the correctly bubbled 
 matrix should be as follows:

figure
 Column I,
 a) If 
 then is

greater than, b) If 
 then is less

than,
 c) If 
 where is the

constant of integration, then is greater
 than,
 d) If


 then is greater than,

COLUMN II
p) 0
q) 1
r) 3
s)4

Watch Video Solution

4x4

∫ dx = k sin− 1(f(x)) + C,
2x

√1 − 4x
k

∫ dx = a + c,
(√x)

5

(√x)
7

+ x6

ln(xk)

xk + 1
ak

∫ dx = k ln|x| + + n,
x4 + 1

x(x2 + 1)2

m

1 + x2
n

mk

∫ = k tan− 1(xtan ) + C,
dx

5 + 4 cos x

x

2
k/m

https://dl.doubtnut.com/l/_7AtdrzeW9MJO
https://dl.doubtnut.com/l/_W3NKP0OQpgYy
https://dl.doubtnut.com/l/_t8eY76mzqzAK


112. Column I,
 a)  is equal to
b)  is equal to

c)  is equal to
 d)  is equal to
 COLUMN II
 p) 


 q) 
 r) 


s) 

Watch Video Solution

∫ dx
e2x − 1

e2x + 1
∫ dx

1

(ex + e−x)2

∫ dx
e−x

1 + ex
∫ dx

1

√1 − e2x

x − log[1 + √1 − e2x + c log(ex + 1) − x − e−x + c

log(e2x + 1) − x + c − + c
1

2(e2x + 1)

113. Statement 1: If the primitive of 
 has the

value 
 then there are exactly two values of 
 for which

primitive of 
vanishes.
Statement 2: 
has period 2.

Watch Video Solution

f(x) = π sinπx + 2x − 4

−2f or x = 1, x

f(x) cos πx

114. Statement 1: 


 Statement 2 : 

Watch Video Solution

∫
{f(x)φ ′ (x) − f ′ (x)φ(x)}

f(x)φ(x)

−logf(x)dx = { }
2

+ c
1
2

φ(x)

f(x)

∫(h(x))
n
h ′ (x)dx = + c

(h(x))
n+ 1

n + 1

https://dl.doubtnut.com/l/_t8eY76mzqzAK
https://dl.doubtnut.com/l/_RsGzOXpolsbL
https://dl.doubtnut.com/l/_zOyGgkLa264s


115. Evaluate:


Watch Video Solution

∫ dx
sin− 1 √x − cos − 1 √x

sin− 1 √x + cos − 1 √x

116. If 
 then the value of 

is______

Watch Video Solution

∫x2 .
e

− 2x
dx = e− 2x(ax2 + bx + c) + d, ∣∣∣

∣∣∣
a

bc

117. If 
then the value of 
is___

Watch Video Solution

f(x) = ∫ dxandf(0) = 0,
3x2 + 1

(x2 − 1)3

∣
∣
∣

∣
∣
∣

2

f(2)

118. Evaluate:


Watch Video Solution

∫√
1 − √x

1 + √x

https://dl.doubtnut.com/l/_zOyGgkLa264s
https://dl.doubtnut.com/l/_qu6HPeNfHJpd
https://dl.doubtnut.com/l/_EvFJV6XdwiPN
https://dl.doubtnut.com/l/_SKKRQbpYvJ2y
https://dl.doubtnut.com/l/_Dl7FBUaUTX5s


119. If 
 (b) 

A=-1/8,B=1/5 A=1/4,B=1/5

Watch Video Solution

∫x5(1 + x3) dx = A(1 + x3) + B(1 + x3) + C, then
2
3

8
3

5
3

A = , B = −
1

8

1
(d)no ≠ ofthese 5

120. The value of the integral 


(b) 
 
(d)
none of these

Watch Video Solution

∫ dthηis
(1 − cos θ)

2
7

(1 + cos θ)
9
7

(tan ) + C
7
11

θ

2

11
7

( ) + C
7
11

cos θ

2

11
7

(s∫h ) + C
7
11

η

2

11
7

121. Let 
 Then value of 


 will be
 
 (b) 


(d)none of these

Watch Video Solution

f(x) = ∫ andf(0) = 0.
x2dx

(1 + x2)(1 + √x2 + 1)

f(1) (tan ) + C
7
11

θ

2

11
7

( ) + C
7
11

cos θ

2

11
7

(s∫h ) + C
7
11

η

2

11
7

https://dl.doubtnut.com/l/_miBi76FJgkHR
https://dl.doubtnut.com/l/_34dbDGzMkawh
https://dl.doubtnut.com/l/_ZKimpbqKpUAM


122. If 

Watch Video Solution

y = ∫√x(1 + x )
4
dxi se q u a lto

1
3

123. If 


(b) 
(c) 
(d) 1

Watch Video Solution

∫√1 + sinxf(x)dx = (1 + sinx) + c, thenf(x)equal
2

3

3
2 cos x

sinx tanx

124. Let 
Then 
is


Watch Video Solution

∫ex{f(x) − f ′ (x)}dx = φ(x). ∫exf(x)dx φ(x) =

125. 

Watch Video Solution

∫( dxisequal →
sin(2x)

sin4 + cos4 x

https://dl.doubtnut.com/l/_sZbX5RtegEvI
https://dl.doubtnut.com/l/_ao9CMIDa4LRx
https://dl.doubtnut.com/l/_IllHG4UlyFil
https://dl.doubtnut.com/l/_A2ecFx5rt7JF


126. .dx

Watch Video Solution

∫
secx

√2 sin(x + A)cos x

127. Evaluate :


Watch Video Solution

∫ dx
x2 + 20

(x sinx + 5 cos x)
2

128. 

Watch Video Solution

∫ . dx
x + 2

(x2 + 3x + 3)(√x + 1)

129. Evaluate:


Watch Video Solution

∫ dx
1

(1 − x2)√1 + x2

https://dl.doubtnut.com/l/_wnAriChaf34k
https://dl.doubtnut.com/l/_jw4FNKkVuC9g
https://dl.doubtnut.com/l/_JgB5zEbI0DY3
https://dl.doubtnut.com/l/_dfui7GicgGun


130. Evaluate:


Watch Video Solution

∫ dx
1

(x + 1)√x2 − 1

131. Evaluate:


Watch Video Solution

∫
1

(x − 3)√x + 1dx

132. Evaluate:


Watch Video Solution

∫(x − 5)√x2 + xdx

133. Evaluate:


Watch Video Solution

∫ dx
x + 1

(x − 1)√x + 2

https://dl.doubtnut.com/l/_P3kgogeFDcts
https://dl.doubtnut.com/l/_GlQIDjo2D2al
https://dl.doubtnut.com/l/_y9D7mHmo7IF2
https://dl.doubtnut.com/l/_nCjlgKfAfG6d


134. Evaluate:


Watch Video Solution

∫sec3 xdx

135. Evaluate:


Watch Video Solution

∫ dx
x2 − 1

(x2 + 1)√x4 + 1

136. Evaluate:


Watch Video Solution

∫ dx
1

(x + 1)√x2 − 1

137. Evaluate:


Watch Video Solution

∫ dx
1

(x2 − 4)√x + 1

https://dl.doubtnut.com/l/_LCWxhb1CzWS1
https://dl.doubtnut.com/l/_A9lNLrd4jYSS
https://dl.doubtnut.com/l/_MzvPRNPLHahd
https://dl.doubtnut.com/l/_OqO84cmTGuQD


138. Evaluate:


Watch Video Solution

∫ dx
1

(x + 1)√x2 + x + 1

139. Evaluate:


Watch Video Solution

∫ dx
x

(x2 + 4)√x2 + 1

140. Evaluate:


Watch Video Solution

∫ dx
x

(x − 1)(x2 + 4)

141. Evaluate:


Watch Video Solution

∫esin − 1 xdx.

https://dl.doubtnut.com/l/_i9tgi5P1JPmR
https://dl.doubtnut.com/l/_6cEAqIpi8SyD
https://dl.doubtnut.com/l/_G51LW4sbKvDt
https://dl.doubtnut.com/l/_Ml084B0Qx3ft


142. Evaluate: 

Watch Video Solution

∫  dx
x2 + 1

(x − 1)
2
(x + 3)

143.  dx

Watch Video Solution

∫sin3 x cos5 x

144. Find:


Watch Video Solution

∫
dx

sinx cos3 x

145. Find


Watch Video Solution

∫ dx
ex(1 + x)

cos2(xe2)

https://dl.doubtnut.com/l/_mOazsnIRp4GM
https://dl.doubtnut.com/l/_NNpDQjvdBiVX
https://dl.doubtnut.com/l/_8tVcF7oc58og
https://dl.doubtnut.com/l/_cYtKnbCmpUXc


146. Evaluate:


Watch Video Solution

∫
sin3 xdx

(cos4 x + 3 cos2 x + 1)tan− 1(secx + cos x)

147. Evaluate:


Watch Video Solution

∫ dx
e√x cos(e√x)

√x

148. Evaluate:


Watch Video Solution

∫ dx
tanx

a + b tan2 x

149. Evaluate:


Watch Video Solution

∫
1

√e5x(e2x + e− 2x)
3
4

https://dl.doubtnut.com/l/_ckhbwWlltBMR
https://dl.doubtnut.com/l/_2VvBcSFy0VLH
https://dl.doubtnut.com/l/_fPLJVFVDKkA7
https://dl.doubtnut.com/l/_89hqNlnG4h1W


150. Find:


Watch Video Solution

∫sin5 xdx

151. Evaluate:


Watch Video Solution

∫ dx
1

(x2 + 2x + 2)2

152. Evaluate:


Watch Video Solution

∫(( )
x

+ ( )
x

)1nxdx.
e

x

x

e

153. Evaluate:


Watch Video Solution

∫ dx
x

x4 + x2 + 1

https://dl.doubtnut.com/l/_9nn3bKS0Bg8m
https://dl.doubtnut.com/l/_JTDptAT1TZVo
https://dl.doubtnut.com/l/_Q4dXqa3j40lC
https://dl.doubtnut.com/l/_j9hC83okN9ay


154. Evaluate:


Watch Video Solution

∫ dx
x2 − 1

(x4 + 3x2 + 1)tan− 1(x + )1
x

155. Evaluate:


Watch Video Solution

∫
x2 − 1

(x2 + 1)√1 + x4

156. Evaluate:


Watch Video Solution

∫ dx
1

2x2 + x − 1

157. Evaluate:


Watch Video Solution

∫ dx
x2 + 4

x4 + 16

https://dl.doubtnut.com/l/_C8PbiY20NvHA
https://dl.doubtnut.com/l/_z3KFu9BFvrhp
https://dl.doubtnut.com/l/_M9gn0C0S34xT
https://dl.doubtnut.com/l/_GP3XWFqYbtyi


158. Evaluate:


Watch Video Solution

∫√tan θdthη

159. Evaluate:


Watch Video Solution

∫ dx
3 sinx + 2 cos x

3 cos x + 2 sinx

160. Evaluate:


Watch Video Solution

∫ dx
x2 + 1

x4 + 1

161. Evaluate:


Watch Video Solution

∫ex( − )dx.
1

x

1

x2

162. Evaluate:
∫ dx
1

x4 + 1

https://dl.doubtnut.com/l/_BBXywllH31kn
https://dl.doubtnut.com/l/_1YljTAo2iPfP
https://dl.doubtnut.com/l/_gJdnTv3m6vNS
https://dl.doubtnut.com/l/_c01GoCllXvBZ
https://dl.doubtnut.com/l/_lKBxPafhtpxz


Watch Video Solution

163. Evaluate:


Watch Video Solution

∫ dx
1

sin4 x + cos4 x

164. Evaluate:


Watch Video Solution

∫ [f(x)gx − fxg(x)]dx

165. Evaluate:


Watch Video Solution

∫(log(logx) + )dx
1

(logx)2

166. Evaluate:


Watch Video Solution

∫x3d(tan− 1 x)

https://dl.doubtnut.com/l/_lKBxPafhtpxz
https://dl.doubtnut.com/l/_zlgENUfEGyci
https://dl.doubtnut.com/l/_dzO5ptlFnr91
https://dl.doubtnut.com/l/_CaGvxomhLDG9
https://dl.doubtnut.com/l/_WvuAxViiu8Nn


167. Evaluate:


Watch Video Solution

∫sin2(logx)dx

168. Evaluate:


Watch Video Solution

∫( − logxsin x)dx.
cos x
x

169. Evaluate:


Watch Video Solution

∫
dx

x2(1 + x5)
4
5

170. Evaluate:


Watch Video Solution

∫ dx
1 + x4

(1 − x4)
3
2

https://dl.doubtnut.com/l/_87GW2mAlpFom
https://dl.doubtnut.com/l/_liGoXOujfIx5
https://dl.doubtnut.com/l/_pJGng6C0LBJZ
https://dl.doubtnut.com/l/_DUnFjkD4ghbN


171. Evaluate:


Watch Video Solution

∫
dx

3√sin11 x cos x

172. Evaluate:


Watch Video Solution

∫ dx
sinx

2 + sin 2x

173. Evaluate 

Watch Video Solution

∫ dx.
loge(x + √x2 + 1)

√x2 + 1

174. Evaluate:


Watch Video Solution

∫ dx
√tanx

sinx cos x

https://dl.doubtnut.com/l/_oeGmme9fmJe8
https://dl.doubtnut.com/l/_OCCt3cVnWv07
https://dl.doubtnut.com/l/_llxjfnkr6qWt
https://dl.doubtnut.com/l/_BlSJBGBEz4Il


175. Evaluate:


Watch Video Solution

∫ dx
(x − x3)

1
3

x4

176. Evaluate:


Watch Video Solution

∫ dx
1

[(x − 1)
3
(x + 2)

5]
1
4

177. Evaluate:


Watch Video Solution

∫ dx
x3 + 1

x2 + x

178. Evaluate:
Evaluate:


Watch Video Solution

∫x− 11(1 + x4)
−

dx
1
2

https://dl.doubtnut.com/l/_5JeqSGjNxBTV
https://dl.doubtnut.com/l/_jh4xgWrc5tpD
https://dl.doubtnut.com/l/_rv0L56l2iwVs
https://dl.doubtnut.com/l/_1HH4UeghblaX


179. Evaluate:


Watch Video Solution

∫ dx.
2x − √sin− 1 x

√1 − x2

180. Evaluate:


Watch Video Solution

∫ dx.
e2x − 1

e2x + 1

181. Evaluate:


Watch Video Solution

∫ dx
sinx

sin(x − a)

182. Evaluate:


Watch Video Solution

∫
dx

cos x − sinx

https://dl.doubtnut.com/l/_awGS6wo1jWyk
https://dl.doubtnut.com/l/_JQt49OvaDQaf
https://dl.doubtnut.com/l/_QVbRHPSD12t0
https://dl.doubtnut.com/l/_08mQoHaiDUfp


183. Evaluate:


Watch Video Solution

∫sin(ex)d(ex)

184. Evaluate:


Watch Video Solution

∫tan3 xdx

185. Evaluate :


Watch Video Solution

∫ dx
sin 2x

a2 + b2 sin2 x

186. Evaluate:


Watch Video Solution

∫cos3 x√s ∈ dx

187. Evaluate:
∫
dx

x + x
1
2

1
3

https://dl.doubtnut.com/l/_LAP8KFX8RUJE
https://dl.doubtnut.com/l/_FSZaqGqVBCJC
https://dl.doubtnut.com/l/_l1gO8DuClWBi
https://dl.doubtnut.com/l/_ezqVl0cELqpN
https://dl.doubtnut.com/l/_X5TRyVAnTLcS


Watch Video Solution

188. Evaluate:


Watch Video Solution

∫(222x

(22x)(2x))dx

189. Evaluate:


Watch Video Solution

∫ dx
ex

e2x + 6ex + 5

190. The number of irrational roots of the equation

 is   c.  d. 

Watch Video Solution

+ = −
4x

x2 + x + 3

5x

x2 − 5x + 3

3

2
a. 4 b. 0 1 2

191. Evaluate:


Watch Video Solution

∫√ dx.
1 + x

x

https://dl.doubtnut.com/l/_X5TRyVAnTLcS
https://dl.doubtnut.com/l/_l9G6GBxiMnG9
https://dl.doubtnut.com/l/_1WBYeMO2vmGV
https://dl.doubtnut.com/l/_Tv8gKrL58spJ
https://dl.doubtnut.com/l/_NiOPYH9ZwfF1


192. Evaluate:


Watch Video Solution

∫
4x + 1

x2 + 3x + 2

193. Evaluate:


Watch Video Solution

∫
dx

(a2 + x2)
3
2

194. Evaluate:


Watch Video Solution

∫ dx
1

x2√1 + x2

195. Evaluate:


Watch Video Solution

∫ dx
sec2 x

√tan2 x + 4

https://dl.doubtnut.com/l/_NiOPYH9ZwfF1
https://dl.doubtnut.com/l/_UXlpi7qIPjIw
https://dl.doubtnut.com/l/_haFdUyvGF7TC
https://dl.doubtnut.com/l/_siQkloHyZVrP
https://dl.doubtnut.com/l/_F2Bbbrrx6XxL
https://dl.doubtnut.com/l/_USsUdyan2KEH


196. Evaluate:


Watch Video Solution

∫ dx
1

√(x − 1)(x − 2)

197. Evaluate:


Watch Video Solution

∫√ dx
x

a3 − x3

198. Evaluate:


Watch Video Solution

∫ dx
x2

√1 − x6

199. Evaluate:


Watch Video Solution

∫ dx

[√1 + x2 + x]
n

√1 + x2

https://dl.doubtnut.com/l/_USsUdyan2KEH
https://dl.doubtnut.com/l/_5Mu3LyDiGBHB
https://dl.doubtnut.com/l/_Tk4EQ4S29gkK
https://dl.doubtnut.com/l/_j0hvZaeeVYMc


200. Evaluate:


Watch Video Solution

∫
dx

(x − p)√(x − p)(x − q)

201. Evaluate:


Watch Video Solution

∫sec5 x cos ec3xdx

202. Evaluate:


Watch Video Solution

∫
dx

cos3 x√sin 2x

203. 

Watch Video Solution

∫((x4 − x) )
1
4

dx

x5

https://dl.doubtnut.com/l/_vGsvILClB3kg
https://dl.doubtnut.com/l/_OTI8ZHsioaHB
https://dl.doubtnut.com/l/_paLnuiuo7vjH
https://dl.doubtnut.com/l/_2dUQHD5CRf16


204. dx

Watch Video Solution

∫
1

x2(x4 + 1)
3
4

205. Evaluate:


Watch Video Solution

∫xx1n(ex)dx

206. Evaluate:


Watch Video Solution

∫ dx
x + 1

(x − 1)√x + 2

207. Evaluate:


Watch Video Solution

∫{1 + 2 tanx(tanx + secx)) dx
1
2

https://dl.doubtnut.com/l/_FXjkqYyNwXCc
https://dl.doubtnut.com/l/_IQH2wRSRjFGL
https://dl.doubtnut.com/l/_aeTHrXSR2Pj7
https://dl.doubtnut.com/l/_pnYolZKjGsIO


208. Evaluate:


Watch Video Solution

∫
dx

(1 + sinx)
1
2

209. Find 

Watch Video Solution

∫ dx.
sin6 x

cos8 x

210. Evaluate:


Watch Video Solution

∫sin 2xd(tanx)

211. Evaluate:


Watch Video Solution

∫ dx
1

√3 sinx + cos x

https://dl.doubtnut.com/l/_tyv96H7UFfxj
https://dl.doubtnut.com/l/_jxBZCeX07Lrn
https://dl.doubtnut.com/l/_nm0nynHb3hiG
https://dl.doubtnut.com/l/_6Z06hyiFD6qb


212. Evaluate:


Watch Video Solution

∫ dx
1

sin(x − a)sin(x − b)

213. Evaluate:


Watch Video Solution

∫(1 + 2x + 3x2 + 4x3 + )dx, ( < |x| < 1)

214. Evaluate:


Watch Video Solution

∫ dx, (x > 0)
1n(1nx)

x1nx

215. Evaluate:


Watch Video Solution

∫
dx

x + x logx

216. Evaluate:
∫secp x tanxdx

https://dl.doubtnut.com/l/_jlXGNGiigIvn
https://dl.doubtnut.com/l/_Q7EJIXFVmvP5
https://dl.doubtnut.com/l/_pZkufx89RAfm
https://dl.doubtnut.com/l/_s9tSuT1qOKkh
https://dl.doubtnut.com/l/_PYRCYYKUexxh


Watch Video Solution

217. Evaluate:


Watch Video Solution

∫cos ec4xdx

218. Evaluate:


Watch Video Solution

∫ (2 + 2 sin 2x)dx
cos x − sinx

cos x + sinx

219. Evaluate:


Watch Video Solution

∫tan2 x sin2 xdx

220. Evaluate:


Watch Video Solution

∫ dx
e3x + e5x

ex + e−x

https://dl.doubtnut.com/l/_PYRCYYKUexxh
https://dl.doubtnut.com/l/_T9GFJqijpiMQ
https://dl.doubtnut.com/l/_NLcisVi4CFx3
https://dl.doubtnut.com/l/_vkvAVzbNBee9
https://dl.doubtnut.com/l/_Wwp1evvHuQJO


221. Evaluate:


Watch Video Solution

∫ dx
cos 2x − cos 2θ

cos x − cos θ

222. Evaluate:


Watch Video Solution

∫ dx
(1 + 1nx)5

x

223. Evaluate:


Watch Video Solution

∫sinx cos x cos 2x cos 4x cos 8xdx

224. Evaluate:


Watch Video Solution

∫
sin 2x

(a + b cos x)
2

https://dl.doubtnut.com/l/_Pd2IIWaZ8i4H
https://dl.doubtnut.com/l/_CbWhCdD0QnoF
https://dl.doubtnut.com/l/_xhYQ8gJXNegS
https://dl.doubtnut.com/l/_awy6bj6G7PMD


225. Evaluate:


Watch Video Solution

dx
1

√1 − e2x

226. Evaluate:


Watch Video Solution

∫ dx
2x + 3

√x2 + 4x + 1

227. Evaluate:


Watch Video Solution

∫
dx

√x + √x − 2

228. Evaluate:


Watch Video Solution

∫ dx
x3

x + 1

https://dl.doubtnut.com/l/_vtx623v7aeCM
https://dl.doubtnut.com/l/_xHf32Tx5c6Mf
https://dl.doubtnut.com/l/_8Y9EvNIgOyqY
https://dl.doubtnut.com/l/_RSA326YNoqDi


229. Evaluate:


Watch Video Solution

∫x sin 3xdx.

230. Evaluate:


Watch Video Solution

∫x logxdx.

231. Evaluate:


Watch Video Solution

∫sin− 1 xdx.

232. Evaluate:


Watch Video Solution

∫ dx
x − sinx

1 − cos x

233. Evaluate:
∫√x2 + 2x + 5dx

https://dl.doubtnut.com/l/_TOCHJK6ZgeG4
https://dl.doubtnut.com/l/_v7dB7ghPjheb
https://dl.doubtnut.com/l/_xdMdHLNOlfGa
https://dl.doubtnut.com/l/_XDZB0rWPnck4
https://dl.doubtnut.com/l/_4UF9G9UX1M8p


Watch Video Solution

234. Evaluate:


Watch Video Solution

∫√1 + 3x − x2dx

235. Evaluate:


Watch Video Solution

∫ dx.
√tanx

sinx cos x

236. Evaluate:


Watch Video Solution

∫ dx
cot x

√sinx

237. Evaluate:


Watch Video Solution

∫ dx
(sin− 1 x)

3

√1 − x2

https://dl.doubtnut.com/l/_4UF9G9UX1M8p
https://dl.doubtnut.com/l/_KVVtJOO5ooRB
https://dl.doubtnut.com/l/_JKvtNVlaJWbN
https://dl.doubtnut.com/l/_kupXxrAkXwyb
https://dl.doubtnut.com/l/_LUXVaA992ryq


238. Evaluate:


Watch Video Solution

∫( )(x + logx)
2
dx

x + 1

x

239. Evaluate:


Watch Video Solution

∫tan4 xdx

240. Evaluate:


Watch Video Solution

∫(tanx − x)tan2 xdx

241. Evaluate:


Watch Video Solution

∫ dx

log( )tan x

2

sinx

https://dl.doubtnut.com/l/_LUXVaA992ryq
https://dl.doubtnut.com/l/_VfV7SuQDfwQb
https://dl.doubtnut.com/l/_zWmj1WpzBKAX
https://dl.doubtnut.com/l/_UKVHjrEDVNHd
https://dl.doubtnut.com/l/_YFpuActgWyqF


242. Evaluate:


Watch Video Solution

∫ dx
√2 + logx

x

243. Evaluate:


Watch Video Solution

∫ dx
logx

(1 + logx)
2

244. 

Watch Video Solution

∫ [sin(logx) + cos(logx)]dx

245. Evaluate:


Watch Video Solution

∫ex( )dx
1 − sinx

1 − cos x

https://dl.doubtnut.com/l/_oOFkaKUkrsMv
https://dl.doubtnut.com/l/_fx4qQkSy6y69
https://dl.doubtnut.com/l/_1YsDCJ4Pw4VC
https://dl.doubtnut.com/l/_Ogzjy3dpU9kg


246. Evaluate:


Watch Video Solution

∫ dx
exx

(x + 1)2

247. Evaluate  is polynomaial function of then the degree, prove

that 

where 

Watch Video Solution

∫f(x)

∫exf(x)dx = ex[f(x)f' (x) + fx = fx + ...... + ( − 1)nfn(x)]

fn(x)dx +
dnf

dxn

248. Evaluate:


Watch Video Solution

∫ex(f(x) + f ′ (x))dx = exf(x) + C

249. Evaluate:  (A)  (B) 

(C)  (D) 

∫
dx

x2(x4 + 1)
3
4

−(1 + ) + c
1

x4

1
4

(1 + ) + c
1

x4

1
4

−(1 − ) + c
1

x4

1
4

−(1 + ) + c
1

x4

1
4

https://dl.doubtnut.com/l/_OgFCcXOyZkQ2
https://dl.doubtnut.com/l/_YXnzFTqKcyzC
https://dl.doubtnut.com/l/_jfgDPCw7hvHX
https://dl.doubtnut.com/l/_epJKj720tVaC


Watch Video Solution

250. Evaluate:


Watch Video Solution

∫
dx

√2ax − x2

251. Evaluate:


Watch Video Solution

∫sin− 1 √ dx.
x

a + x

252. Evaluate:


Watch Video Solution

∫ dx
x

5
2

√1 + x7

253. Evaluate:


Watch Video Solution

∫ dx
sec2 x

3 + tanx

https://dl.doubtnut.com/l/_epJKj720tVaC
https://dl.doubtnut.com/l/_8p8UZY36EaxD
https://dl.doubtnut.com/l/_U542mUA96cfK
https://dl.doubtnut.com/l/_f649GSwnXI02
https://dl.doubtnut.com/l/_UvSHkzgWpe4S


254. Evaluate:


Watch Video Solution

∫ dx
x

√x + 2

255. Evaluate:


Watch Video Solution

∫ dx
1 − tanx

1 + tanx

256. Evaluate:


Watch Video Solution

∫ dx
ex − e−x

ex + e−x

257. Evaluate:


Watch Video Solution

∫ dx.
1

√3x + 4 − √3x + 1

https://dl.doubtnut.com/l/_NXXBncFYPi1n
https://dl.doubtnut.com/l/_uPd0vKeg0OKL
https://dl.doubtnut.com/l/_KhhLVMivakfY
https://dl.doubtnut.com/l/_LOol7Zs1xhfJ


258. Evaluate:


Watch Video Solution

∫
dx

(2x − 7)√(x − 3)(x − 4)

259. Evaluate:


Watch Video Solution

∫(x + ) ( )dx
1

x

3
2 x2 − 1

x2

260. Find the values of 
such that 

Watch Video Solution

aandb ∫ = tan( + a) + b
dx

1 + sinx

x

2

261. Evaluate:


Watch Video Solution

∫ dx.
sin 2x

a2 sin2 x + b2 cos2 x

https://dl.doubtnut.com/l/_hSpJ9aMeTjUQ
https://dl.doubtnut.com/l/_9gwsXaDpK7BE
https://dl.doubtnut.com/l/_IdXqPSMGVAQJ
https://dl.doubtnut.com/l/_mXv7KMKyU5yZ


262. Evaluate:


Watch Video Solution

∫ dx.
1

1 + e−x

263. Evaluate:


Watch Video Solution

∫
ex(2 − x2)dx

(1 − x)√1 − x2

264. Evaluate:


Watch Video Solution

∫ex(1 + tanx + tan2 x)dx

265. Evaluate:


Watch Video Solution

if ∫g(x)dx = g(x), then∫g(x){f(x) + f ′ (x)}dx

266. Evaluate:
∫cos √xdx

https://dl.doubtnut.com/l/_XYsYnehcI08i
https://dl.doubtnut.com/l/_MzEgQ6Cq0u8j
https://dl.doubtnut.com/l/_dJgI4EgkXHZW
https://dl.doubtnut.com/l/_SrIcVJ87kAoO
https://dl.doubtnut.com/l/_AHxk7njxrpvx


Watch Video Solution

267. Evaluate:


Watch Video Solution

∫x sin2 xdx

268. Evaluate:


Watch Video Solution

if ∫f(x)dx = g(x), then∫f − 1(x)dx

269. Evaluate:


Watch Video Solution

∫cos x log(tan )dx
x

2

270. Evalaute:


Watch Video Solution

∫( )

2

dx
logx − 1

1 + (logx)2

https://dl.doubtnut.com/l/_AHxk7njxrpvx
https://dl.doubtnut.com/l/_U9NEdolSIF6e
https://dl.doubtnut.com/l/_IfA0x6ipV9OJ
https://dl.doubtnut.com/l/_2UFReon90GDN
https://dl.doubtnut.com/l/_x9jjrj71RgoC


271. Evaluate:


Watch Video Solution

∫ dx
x sin− 1 x

√1 − x2

272. Evaluate:


Watch Video Solution

∫tan− 1
√xdx

273. Evaluate


Watch Video Solution

∫sin3 xdx

274. Evaluate 

Watch Video Solution

∫sin 2x sin 3xdx.

275. Evaluate:
∫amxbnxdx

https://dl.doubtnut.com/l/_4aw4JaaJI0K1
https://dl.doubtnut.com/l/_RaGc3RNjDu6Q
https://dl.doubtnut.com/l/_kIhWoXwMewen
https://dl.doubtnut.com/l/_hywerjGtUuJR
https://dl.doubtnut.com/l/_3VYJxlDUxl4i


Watch Video Solution

276. Evaluate the following integrals :


Watch Video Solution

∫ dx
tanx

secx + tanx

277. If
  ,then the value tof 

Watch Video Solution

∫ dx = f(x) + c
1

x + x5
∫ dx.

x4

x + x5

278. If


Watch Video Solution

∫ dx
(x3 + 8)(x − 1)

x2 − 2x + 4

279. Integrate the functions


Watch Video Solution

sin3 x + cos3 x

sin2 x cos2 x

https://dl.doubtnut.com/l/_3VYJxlDUxl4i
https://dl.doubtnut.com/l/_Z79LN4HbGm27
https://dl.doubtnut.com/l/_YMl5JBGfxC6z
https://dl.doubtnut.com/l/_4kih3Vb8WOIQ
https://dl.doubtnut.com/l/_LoWZh4qO2A99


280. Evaluate: 

Watch Video Solution

∫tan− 1(secx + tanx)dx, −
π

2

281. Evaluate:


Watch Video Solution

∫ dx.
x + 2

(x + 1)2

282. Evaluate  (A)  (B) 

 (C)  (D) 

Watch Video Solution

∫( )dx
8x + 13

√4x + 7
(4x + 7) − (4x + 7) + c

1

3

3
2

1

2

1
2

(4x + 7) − (4x + 7) + c
1

6

5
2

2

3

3
2 (4x + 7) − (4x + 7) + c

1

3

5
2

1
2

3
2

(4x + 7) − (4x + 7) + c
3
2

1
2

1
2

283. Evaluate:


Watch Video Solution

∫
secxdx

√cos 2x

https://dl.doubtnut.com/l/_MlRnVWZS0Qtg
https://dl.doubtnut.com/l/_6hHcEqtG36gA
https://dl.doubtnut.com/l/_BkOKxRMB4yzD
https://dl.doubtnut.com/l/_YUFDIhIpOnLh


284. Evaluate:


Watch Video Solution

∫sin3 x cos2 xdx

285. Evaluate:


Watch Video Solution

∫
xdx

√(1 + x2) + √(1 + x2)
3

286. Evaluate:


Watch Video Solution

∫ dx
2x + 1

x4 + 2x3 + x2 − 1

287. Evaluate:


Watch Video Solution

∫ dx
1

x2 − x + 1

https://dl.doubtnut.com/l/_UxiKtGWhSvjW
https://dl.doubtnut.com/l/_P343Zn1lJfZN
https://dl.doubtnut.com/l/_kQ5FcDocYtLP
https://dl.doubtnut.com/l/_895RCmJSYVB4


288. Evaluate:


Watch Video Solution

∫ dx
1

2x2 + x − 1

289. Evaluate:


Watch Video Solution

∫ dx
cos x

sin(x − )sin(x + )π

6
π

6

290. Evaluate:


Watch Video Solution

∫ dx.
sinx

sin 3x

291. Evaluate:


Watch Video Solution

∫ dx
1

3 + sin 2x

https://dl.doubtnut.com/l/_PCXPTey93Lp5
https://dl.doubtnut.com/l/_Amvv0Mdtidwx
https://dl.doubtnut.com/l/_NTrtq6gKA64p
https://dl.doubtnut.com/l/_AotoFjLdbbo8


292. Evaluate:


Watch Video Solution

∫ dx
1

1 + sinx + cos x

293. Evaluate:


Watch Video Solution

∫ dx
2x − 1

(x − 1)(x + 2)(x − 3)

294. Evaluate:


Watch Video Solution

∫tan− 1 √ dx
1 − x

1 + x

295. Evaluate:


Watch Video Solution

∫ dx
1

sinx − sin 2x

296. Evaluate:
∫ dx
2x

(x2 + 1)(x2 + 2)

https://dl.doubtnut.com/l/_NXT3kLQIyccT
https://dl.doubtnut.com/l/_eyB8yswXXyL3
https://dl.doubtnut.com/l/_WsFFoI8Jj1n8
https://dl.doubtnut.com/l/_5C9oTVlU1BWh
https://dl.doubtnut.com/l/_nRiOdnIxh7mc


Watch Video Solution

297. Evaluate:


Watch Video Solution

∫ dx
(x − 1)(x − 2)(x − 3)

(x − 4)(x − 5)(x − 6)

298. Evaluate:


Watch Video Solution

∫ dx
1 − cos x

cos x(1 + cos x)

299. Evaluate :


Watch Video Solution

∫(1 − cos x)cos ec2xdx

300. Evaluate:


Watch Video Solution

∫(secx + tanx)2
dx

https://dl.doubtnut.com/l/_nRiOdnIxh7mc
https://dl.doubtnut.com/l/_4qG3cDGd3ElJ
https://dl.doubtnut.com/l/_woUBxUqt2yjQ
https://dl.doubtnut.com/l/_DkNjKTNThcw9
https://dl.doubtnut.com/l/_p6XSRAigUYGq


301. Evaluate:


Watch Video Solution

∫ dx.
secx

secx + tanx

302. Evaluate:


Watch Video Solution

∫tan− 1{√( )}
1 − cos 2x

1 + cos 2x

303. Evaluate:


Watch Video Solution

∫ dx
1

1 + sinx

304. Evaluate .

Watch Video Solution

∫ dx
1 − cos x

1 + cos x

https://dl.doubtnut.com/l/_zFCaXvSKHB5R
https://dl.doubtnut.com/l/_lWa1LogK8oyb
https://dl.doubtnut.com/l/_I7957wcfqcOt
https://dl.doubtnut.com/l/_nCaOQaEbSjA8


305. Evaluate:


Watch Video Solution

∫sec2 x cos ec2xdx.

306. Evaluate


Watch Video Solution

∫
2x+ 1 − 5x− 1

10x

307. Evaluate:


Watch Video Solution

∫ dx.
(1 + x)3

√x

308. Evaluate:


Watch Video Solution

∫
cos 2x sin 4xdx

cos4 x(1 + cos2 2x)

https://dl.doubtnut.com/l/_lohhrKv8wVTZ
https://dl.doubtnut.com/l/_xgFY3tEdfwEg
https://dl.doubtnut.com/l/_Ysqoi2a4xt0Z
https://dl.doubtnut.com/l/_6zyujjCbHbJR


309. Evaluate:


Watch Video Solution

∫ dx
ax3 + bx

x4 + c2

310. Evaluate:


Watch Video Solution

∫ dx
e2x − 2ex

e2x + 1

311. Evaluate:


Watch Video Solution

∫
dx

9 + 16 sin2 x

312. Find 

Watch Video Solution

∫
dx

√x + x

https://dl.doubtnut.com/l/_897nBnXVSfBo
https://dl.doubtnut.com/l/_ZACxJIAI7Qkl
https://dl.doubtnut.com/l/_8P8FnQd2a5Zu
https://dl.doubtnut.com/l/_kytcNzaRybLh


313. Evaluate:


Watch Video Solution

∫ dx
cot x

√sinx

314. Evaluate:


Watch Video Solution

∫
√xdx

1 + x

315. Evaluate: 

Watch Video Solution

∫ dx
x2 tan− 1 x3

1 + x6

316. Evaluate:


Watch Video Solution

∫sin2 x cos2 xdx

317. Evaluate:
∫ dx
1

x4 − 1

https://dl.doubtnut.com/l/_aUcWTQ0qr7cS
https://dl.doubtnut.com/l/_OmLZdbSXY4Xg
https://dl.doubtnut.com/l/_pm7TjP7zYXjX
https://dl.doubtnut.com/l/_NOOcBaV2oXwT
https://dl.doubtnut.com/l/_ep0oGmBC1yH8


Watch Video Solution

318. If the product of  positive numbers is . Then their sum is

Watch Video Solution

n nn

319. Evaluate:


Watch Video Solution

∫
dx

sinx(3 + cos2 x)

320. Evaluate:


Watch Video Solution

∫ dx
x2 + 1

x(x2 − 1)

321. Evaluate:


Watch Video Solution

∫ dx
sinx

sin 4x

https://dl.doubtnut.com/l/_ep0oGmBC1yH8
https://dl.doubtnut.com/l/_CMuO0THujbWc
https://dl.doubtnut.com/l/_haBPWQhUDfuB
https://dl.doubtnut.com/l/_itAcyqepA206
https://dl.doubtnut.com/l/_Lyx8RNMfDVIT


322. Evaluate:


Watch Video Solution

∫ dx
logex e ⋅ loge2x e ⋅ loge3x e

x

323. Evaluate:


Watch Video Solution

∫e3 logx(x4 + 1)
− 1

dx

324. Evaluate:


Watch Video Solution

∫
dx

x (1 + x )
2
3

2
3

https://dl.doubtnut.com/l/_2TLGonAkv2Jf
https://dl.doubtnut.com/l/_vCfFh7oJNOEO
https://dl.doubtnut.com/l/_o0N2iBbyHnK5

